








Isotopenverteilung 

element (symbol) isotope mass abundance av. n1ass 
hydrogen (H) H 1.007825 99.985 % 

2H 2.014102 0.015% 1.007975 

carbon (C) 120 12.0 98.890% 
13 

C 13.003355 1.110 % 12.011137 
nitrogen (N) t4N 14.003074 99.634% 

1sN 15.000109 0.366% 14.006727 
oxygen (0) 160 15.994915 99.762% 

170 16.999132 0.038% 
180 17.999161 0.200 %) 15.999305 

phosphor (P) 31p 30.973762 100% 30.973762 
sulfur (S) 32g 31.972071 95.020% 

33S 32.971459 0.750% 
34g 33.967867 4.210 % 
36S 35.967081 0.020% 32.064388 

proton (p+ , 1H+ ) l.00728Da, neutron (n) l.008665Da, electron (e-) 0.00054Da 








